Uppsalabridgen
Sondagspar@RealBridge #2 2023-01-22

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poéang % Namn MID Klubb
1 7 211  62.80 Andreas Konyves - Linnea Edlund 4590 34773 BK S:t Erik - Uppsalabridgen
2 5 203 60.42 Tore Enbarr - Lars-Gunnar Svangard 3044 11682 Sandvikens BK
3 16 202 60.12 VeraEnbarr - Jonas Rosén 3045 15391 Sandvikens BK
4 11 192 57.14 Leif Lundberg - Emma Karlsson 20271 58290 Luled BK
5 2 186 55.36 Kjell Holmgren - Leif Holmgren 3368 12330 Bolinas BK
6 4 181 53.87 Mikael Westerlund - Kent Johansson 9690 1834 BK Lavec - BK Lyx
7 3 180 53.57 Majsan Agren - Anna Ek 61575 59578 Uddevalla BF
8 6 174 51.79 Benny Olsson - Roger Nyman 592 7522 Skovde BA - Hunnebostrand-Kungshamns BK
9 14 172 51.19 Rolf Westman - Torbjorn Nyberg 2821 12682 Uppsalabridgen
10 10 157  46.73 Staffan Lowenadler - Per Andersson 9947 17111 Askims BK - BK Albrekts
11 9 155  46.13 Tora Philip - Ulf Nehlin 7780 2000 BK S:tErik
12 12 151  44.94 Ulf Halvorsen - Carina Halvorsen 3452 91477 Tjoérns BK
13 1 144  42.86 Susanne Levin - Gunilla Wallin 53421 48390 Malmé BK
14 8 141  41.96 Mats Andersson - Marton Loke 16630 15691 BK S:t Erik - Sandvikens BK
15 13 125 37.20 Soren Samuelsson - Anna Ling 37499 37500 Uppsalabridgen
16 15 114  33.93 Marianne Melchior Ericson - Joakim Ericson 17146 26279 Skutskérs BK - Gavle BK
1 a- 2 4 E52 3 410
Nord v KDKn652 Ost vD1093 Syd vD1065
Ingen ¢ Kn54 NS + D107 ov ¢ KKn7
#10863 #Kn103 #EKn865
4 Kn8653 & K942 4973 4 K1086 4 D8752 & EKnN63
v7 vE104 vKKn75 v86 v94 v KKn3
+ D97 ¢ 632 ¢+ K4 ¢ Kn653 ¢ E9854 ¢ D102
&#ED94  &Kn75 D982 #E65 210 #D43
« ED107 « DKn4 « K94
v 983 vE42 vE872
+ EK108 ¢ E982 ¢ 63
*K2 *K74 K972
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 8 4v S= v7 420 13.0 10| 7 8 2NS= v7 120 130 10| 3 2 4aV-1 v5 100 13.0 1.0
11 12 4y N= a4 420 13.0 10|11 12 2NS= 43 120 13.0 10|13 10 44 O-1 v2 100 13.0 1.0
3 4 3NS= 43 400 100 40| 1 2 INS= 49 90 80 60| 5 1 24aN= 46 90 10.0 4.0
1 2 49y N-1 a2 -50 6.0 80| 3 4 INS= »8 90 80 60| 6 9 44N-1 aA -50 70 7.0
5 6 3vyN-1 a2 -50 6.0 80| 5 6 INS= *2 90 80 60| 8 4 3vN-1 2 -50 70 7.0
13 14 4vy N-1 2 -50 6.0 80| 9 10 2NS-1 »8 -100 3.0 11.0(11 7 4vy N-2 2 -100 4.0 10.0
9 10 5v N-2 *5 -100 20 120(15 16 INS-1 »8 -100 3.0 11.0(16 14 24 V+1 v6 -140 20 120
15 16 5v N-3 &5 -150 0.0 14013 14 3vy N-2 v8 -200 0.0 14.0(15 12 4vDS-2 &T -300 0.0 14.0
4 4 KKn 5 « E1064 6 4 Kn1063
Vast v EK975 Nord v EK97 Ost vKn1094
Alla ¢ 104 NS +10 ov +D3
#D876 #Kn953 #Kn96
«EDI10 #8543 a2 4 Kn9 4 D98 & EK7
vKn10643 v2 v8 v DKNn106542 vED532 vK76
+ D982 ¢ EKKn73 ¢ EKD843 ¢ Kn6 ¢E1054 ¢Kn8
*E #1092 #K10874 %62 8 #ED1032
49762 « KD8753 542
vD8 v3 v8
465 ¢ 9752 + K9762
&#KKn543 &ED K754
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 1 4eV-1 ¢T 100 12.0 20| 4 11 44 S+1 ¢A 650 11.0 30|14 12 6vDO-2 42 500 14.0 0.0
6 9 240-1 &4 100 120 20| 5 2 44 S+l ¢A 650 11.0 30| 8 3 3NO= &5 -600 120 2.0
16 14 4¢ V-1 ¢4 100 120 20| 9 1 44 S+1 ¢A 650 11.0 30|16 10 4v O= a2 -620 10.0 4.0
3 2 26 V+H2 vK -130 50 9.0|16 10 54 S= v8 650 11.0 30| 4 11 4v V+1 +Q -650 50 9.0
8 4 2¢ V+2 vA -130 50 9.0(14 12 44 S= v8 620 6.0 80| 5 2 4vV+1l 46 -650 50 9.0
13 10 4¢ O= LX) -130 50 90| 8 3 6¢DV-3 vA 500 30 110 9 1 4vO+1 ¢2 -650 50 9.0
15 12 2¢ V+2 »7 -130 50 90|13 6 5¢DV-3 vK 500 3.0 110|113 6 4vO+1 +6 -650 50 9.0
11 7 2¢ V+3 *T -150 0.0 14015 7 64 S-1 +K -100 0.0 140(15 7 3NO+2 +8 -660 0.0 14.0
7 «D 8 « E107 9 46
Syd v KKn7632 Vast vKn5 Nord vKn83
Alla + Kn7654 Ingen + EKn97653 ov ¢ E8532
&5 +10 +D765
4 Kn107543 4 E986 4Kn9642 4 KD53 s E72 « KDKn10854
vD va vD10873 vK92 vE1094 v65
4932 + EKD ¢ 42 +D8 + D104  o-
#642 #KDKn109 *6 *K743 K109 &Kn842
& K2 48 93
vE10985 vE64 vKD72
+ 108 + K10 ¢ KKn976
#E873 #EDKn9852 &E3
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 13 4vyDS= 45 790 140 00|11 3 3NS+4 v7 520 140 00|12 6 54 0-1 vK 100 140 0.0
12 10 54 V-2 «5 200 12.0 20|12 10 54DO-3 #A 500 120 20|11 8 5¢DN-1 &K -100 120 2.0
8 2 5vDS-1 «J -200 6.0 80(15 4 3NS+1 v3 430 100 40|16 1 34 0+1 49 -170 100 4.0
9 5 5vyDS-1 4] -200 6.0 80| 1 13 5¢ N= 43 400 50 90| 3 15 44 0= *A -620 4.0 10.0
11 3 5vDS-1 T -200 6.0 80| 8 2 5¢N= 4K 400 50 90| 9 2 440= vK -620 4.0 10.0
14 7 5¢vDS-1 &7 -200 6.0 80(14 7 5¢ N= 4K 400 50 90|10 7 44 0= vK -620 4.0 10.0
15 4 5¢DS-1 & -200 6.0 80|16 6 5¢ N= 4Q 400 50 90|13 5 44 0= *A -620 4.0 10.0
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16 6 44 O= vA -620 00 140| 9 5 54S-1 v3 -50 00 140|14 4 440-= 49 -620 4.0 100
10 « KD106 11 » 964 12 « K108
Ost v- Syd vD3 Vast v3
Alla ¢ EDKn42 Ingen + D10765 NS + E9863
#EK32 »763 #Kn642
4E542  a- « E87 # Kn32 «E75 443
v K52 v EKn1098763 vKn8762 vE1054 v K10 v EKn9876
¢ K1073 +8 ¢ KKn2 ¢ E43 ¢ D10752 +Kn4
«108 «D654 *K2 *D94 #E98 *KD7
« Kn9873 « KD105 « DKn962
vD4 v K9 v D542
¢ 965 +98 ¢+ K
#Kn97 #EKn1085 #1053
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 2 44S+1 v2 650 140 00|15 8 4v V-2 «3 100 140 00| 7 6 4v0-1 «Q 50 11.0 3.0
3 15 6vDO-1 &7 200 120 20| 5 16 3v V-1 %3 50 110 30|11 2 4v0O-1 +Q 50 110 3.0
12 6 44 N-1 *4 -100 90 50|14 3 3vV-l 3 50 110 3.0|12 1 4v0-1 «Q 50 11.0 3.0
16 1 44 S-1 &T -100 90 50| 7 6 4¢ N-2 vA -100 80 60|13 9 4v V-1 8 50 11.0 3.0
10 7 64 S-2 v2 -200 50 90|10 4 3vV= %3 -140 3.0 11.0| 5 16 2¢ O+1 «Q -140 30 110
11 8 64 S-2 vK -200 50 90|11 2 3vV= 3 -140 30 11.0(10 4 3vO= +Q -140 30 11.0
13 5 54DN- vA -500 20 120|112 1 3v V= +5 -140 30 11.0|14 3 2¢0+1 «Q -140 3.0 11.0
14 4 5vDO= 3 -850 00 140|113 9 3vV= a4 -140 3.0 11.0(15 8 2¢O0+1 +¢K -140 30 110
13 4 Kn1084 14 oK 15 & KKn7
Nord v K97 Ost v Kn5 Syd v KD64
Alla ¢ 109762 Ingen ¢ K10763 NS ¢ 97
«D #KD963 #EKKn6
4E976 432 4 ED107543 4Kn8 21095 «D83
vDKn82 vEG6 vE97 v 643 vE87 v952
¢85 ¢ EKKn43 +54 ¢ EKn82 ¢ E432 1065
#K106  #EKn42 *E #Kn1052 #874 #9532
& KD5 # 962 «E642
v 10543 v KD1082 vKn103
¢D +D9 ¢ KDKn8
#98753 *874 «D10
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 1504 K 400 140 00|10 3 4eV-1 &K 50 130 10| 4 1 5NN= +9 660 80 6.0
8 14 3NV-1 «8 100 90 50|16 9 4eV-1 &K 50 130 10| 6 3 3NN+2 #8 660 8.0 6.0
10 3 3NV-1 «8 100 90 50| 6 4 3a4V= *Q -140 80 60| 9 12 3NN+2 &9 660 80 6.0
13 2 3NV-1 ¢2 100 90 50| 7 1 3aV= &K -140 80 6.0|10 8 3NS+2 ¢3 660 80 6.0
16 9 3NO-1 +Q 100 90 50|12 5 3e4V= +K -140 80 6.0|14 11 3NN+2 &5 660 8.0 6.0
6 4 3NO+1 #8 -630 30 110| 8 14 34 V+1 &K -170 3.0 11015 2 3NN+2 &2 660 80 6.0
12 5 3NV+1L &) -630 30 11.0|13 2 34 V+1l £Q -170 3.0 11.0|16 13 3NN+2 #2 660 80 6.0
15 11 3NO+2 %3 -660 00 140|15 11 44DS-2 A -300 0.0 140 7 5 3NS+1 T 630 0.0 14.0
16 & EKKn5 17 «E10 18 «E106
Vast v 109 Nord vKn5 Ost v6
ov + E863 Ingen + EK1075 NS ¢ DKn10964
#Kn32 #KKn95 #1082
D94 4763 4 KDKn754 4932 4Kn84 49732
v 8653 vE2 v 1092 vD7643 v 543 v Kn2
¢ K42 ¢ D10975 *- +8 ¢+ E82 + K75
#1087 #KD9 #8732 #ED64 #EKn73 #K964
#1082 » 86 « KD5
v KDKn74 v EK8 v EKD10987
¢+ Kn ¢ DKn96432 +3
#E654 «10 «D5
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 11 3NS+1 4 430 140 00| 7 9 66 N= A 920 140 00|11 10 4vS+2 v3 680 140 0.0
6 3 INS+4 #8 210 120 20|14 15 64DV-3 +A 500 120 20| 1 3 4vS= 8 620 90 5.0
9 12 2¢v S+3  ¢2 200 100 40| 4 5 3NN+2 v3 460 80 60| 4 5 4vS= v3 620 9.0 5.0
15 2 INS+3 v8 180 70 70| 6 8 3NN+2 v3 460 80 6.0|14 15 4vS= 4 620 9.0 5.0
16 13 2N S+2 ¢2 180 70 70|12 13 3NN+2 v3 460 80 60|16 2 4vS= v5 620 9.0 5.0
7 5 2vS-= ¢K 110 40 100 1 3 5¢ N+1 +¢3 420 3.0 11.0|12 13 3vyS+3 ¢A 230 4.0 10.0
4 1 3NN-1 ¢5 -50 10 13.0|16 2 5¢ N+1 v3 420 30 11.0| 6 8 3vsS+l1 ¢3 170 20 120
10 8 3NN-1 ¢5 -50 10 13.0|11 10 6¢ S-1 &K -50 00 140| 7 9 44 N-3 a2 -300 0.0 14.0
19 « EKn84 20 « ED98 21 # 96
Syd v K1096 Vast v EKD8 Nord v 1098742
oV ¢ K76 Alla * K NS ¢ Kn95
#KKn #8632 &54
43 4 K92 #7543 2102 4E432 4Knl087
v D85 v 432 vKn9764 v 1032 vD53 vE
¢ Kn10532 +9 +4 ¢ D972 ¢ED2 +K64
*ED74 #986532 #E105 «D974 #DKn7 #E8632
«D10765 « KKn6 « KD5
v EKn7 v5 v KKn6
¢ ED84 ¢ EKn108653 +10873
+10 #KKn #K109
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
3 5 44 S+2 ¢J 480 130 10| 1 8 3NN+1 T 630 130 10| 3 9 44 0= +8 -420 13.0 1.0
10 15 44 S+2 2 480 13.0 10|13 7 3NN+1 &7 630 130 10| 4 13 44 0= o7 -420 13.0 1.0
6 11 44 S+1  ¢J 450 90 50|10 15 2¢ N+4 T 170 100 40| 5 8 3NV+1 vT -430 9.0 5.0
14 2 44 S+1 &A 450 90 50| 3 5 6¢S-1 v4 -100 4.0 10.0(10 14 3NV +1 vT -430 9.0 5.0
1 8 44 S= ¢J 420 40 100 4 9 64 S-1 *A -100 40 100( 1 11 44 O+1 7 -450 4.0 10.0
4 9 44 S= ¢J 420 40 100| 6 11 6NN-1 oT -100 40 100| 7 16 44 V41 T -450 4.0 100
12 16 4 S= ¢2 420 4.0 10.0|12 16 3NS-1 a4 -100 40 100(15 6 44 O+1 7 -450 4.0 10.0
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13 7 44 S-1 3 -50 00 140(14 2 64 S-1 SA -100 40 100(12 2 3NO+2 7 -460 0.0 14.0

22 « E642 23 « DKn98 24 & DKn
Ost v DKn5 Syd vD108 Vast v32
oV +5 Alla ¢ 954 Ingen 4532
#KKn432 «D43 #KKn9632
41073  «KKn95 aE2 4 K54 4743 « EK1096
v EK7 v 10632 vKn7654 v932 vKnl0 vED974
¢ Kn742 ¢ KD96 ¢ K10763 ¢ D8 ¢ Knl1098 ¢ E7
987 *6 +10 #KKn762 #E875 *4
«D8 « 10763 # 852
v 984 vEK v K865
+ E1083 ¢ EKn2 ¢ KD64
#ED105 #E985 «D10
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 14 3NDS= T 550 140 00| 3 13 INS+2 +6 150 120 20| 3 13 14 0+3 +Q -170 140 0.0
15 6 3NS= vK 400 120 20| 6 14 INS+2 v4 150 120 20| 1 15 44 O+1 K -450 60 8.0
3 9 2NS+1 vA 150 70 70|16 4 INS+2 v4 150 120 20| 5 11 44 O+1 42 -450 60 8.0
4 13 INS+2 vK 150 70 70| 5 11 INS+1 6 120 80 60| 6 14 44 O0+1 +Q -450 6.0 8.0
5 8 INS+2 vA 150 70 70| 7 12 INS= *3 90 60 80| 7 12 44 O+1 &8 -450 60 8.0
7 16 INS+2 ¢4 150 70 70| 1 15 2vO-= 46 -110 40 100 8 9 44 O+l a5 -450 60 8.0
1 11 2NS= vA 120 20 120 8 9 2¢O+1 &8 -140 10 13.0|10 2 44 0+1 #Q -450 6.0 8.0
12 2 5#S-2 vK -100 00 140|10 2 3vO= *8 -140 10 13.0|16 4 44 O+1 &2 -450 60 8.0
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